nanosecond

614400 s: Mdev= 0.79968E-14 Tdev= 2837 ps
307200 s: Mdev= 0.11405E-13 Tdev= 2023 ps
153600 s: Mdev= 0.14146E-13 Tdev= 1254 ps
76800 s: Mdev=0.18218E-13 Tdev= 808 ps
- 38400 s: Mdev=0.22102E-13 Tdev= 490 ps
09/04/13 nxraigrt56502_35.ppp_defaut+8d-15 19200 5 Mclev= 0.28470E-13 Tdov= 316 pe
9600 s: Mdev= 0.43664E-13 Tdev= 242 ps
4800 s: Mdev= 0.63528E-13 Tdev= 176 ps

11 ' ' ' ' ' ' ' ' ' 2400 s: Mdev= 0.88795E-13 Tdev= 123 ps
1 1 1200 s: Mdev= 0.12526E-12 Tdev= 87 ps
0 ] 600 s: Mdev= 0.19050E-12 Tdev= 66 ps
9 300 s: Mdev= 0.34888E-12 Tdev= 60 ps
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